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Q0oo Jooooo ooooooo A oooao oooo 0oooo

oooooooo 0 16 XA610 0001600

0 3.13ms 6.25ms XA610 OO 10000 O 1.7 XA610 0001700
1 3.13ms 50ms XA610 O O20000 O 1.8 XA610 0001800
2 3.13ms 100ms XAel1D0OO30000 O 1.9 XA610 0 001900
3 3.13ms 200ms XA610 0040000 O 2.0 XA610 0002000
4 3.13ms 400ms XA610 O O50000 0 21 XA610 0002100
5 3.13ms 1.6s XAe1O0 O OeoooO 0 2.2 XA610 0 002200
6 25ms 50ms XA610 O Od20000 O 2.3 XA610 0002300
7 25ms 100ms XAe10O0O30000 0 2.4 XA610 0002400
8 25ms 200ms XA610 0040000 O 25 XA610 0 002500
9 25ms 400ms XA610 O O50000 O 2.6 XA610 0 002600
A 25ms 1.6s XAelD0OOeonoond O 2.7 XA610 0002700
B 50ms 50ms XA610 O Od20000 O 2.8 XA610 0 002800
C 50ms 100ms XA610 0 O30000 0 2.9 XA610 0002900
D 50ms 200ms XA610 0040000 O 3.0 XA610 0 003000
E 50ms 400ms XA610 O O50000 0 3.1 XA610 0003100
F 50ms 1.6s XA610 O Oe0 000 1 3.2 XA610 0003200
H 100ms 100ms XA610 0 O30000 2 3.3 XA610 0 003300
K 100ms 200ms XAelD0 O O40000 3 3.4 XA610 0003400
L 100ms 400ms XA610 0050000 4 3.5 XA610 0003500
M 100ms 1.6s XAelDOOeOoOoQd 5 3.6 XA610 0003600
P 200ms 200ms XA610 0040000 6 3.7 XA610 0003700
R 200ms 400ms XAe10 O Os50000 7 3.8 XA610 0003800
S 200ms 1.6s XAelDOOeOoOdQd 8 3.9 XA610 0003900
T 400ms 400ms XAel10O OOs50000 9 4.0 XA610 0004000
U 400ms 1.6s XAe10 O OeooonO o 4.1 XA610 0004100
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